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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

She____ no longer contain her anger and shouted at him uncontrollably.
* could
* must
* might
* may
Correct Answer :-could
2)
Question Stimulus :-

Fill in the blank with the correct option.

In theory, women still have children at the age of 50.

® can

* must

* dare

* need
Correct Answer :-can
3)
Question Stimulus :-

Fill in the blank with the correct option.

We asked if the computer access the internet.

e could



* should

* must

e ought to
Correct Answer :-could
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The commercialization of football has turned it from a sport a business.
® in
®* on
e at
* into
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

The river is flowing _____the danger level.
* beneath
* along
® across
e above
Correct Answer :-above
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

Over time, their acquaintance developed a lasting friendship.



* into

e for

* from

® across
Correct Answer :-into
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

The car skidded and went out _____control, crashing _____an oncoming truck.
e of, into
e in, to
°* to,in
e off, across
Correct Answer :-of, into
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e We've just

e appointed a coordinator

e who will oversee whole project.

* No error
Correct Answer :-who will oversee whole project.
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* An embryo is created

e through the union

e of a sperm and an egg.

* No error
Correct Answer :-No error
10)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* The standard unit

e of currency

®* in USis the dollar.

* No error
Correct Answer :-in US is the dollar.
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If I had a lot of money,
e I would have done a lot of charity
* to the poor and handicapped people.

®* No error

Correct Answer :-No error

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If she have worked hard,

* she would have

* topped the university.

* No error
Correct Answer :-If she have worked hard,
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

e If he drives fast,

®* he can reach

® the station on time.

* No error
Correct Answer :-No error
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e It has been raining
e continuously
* since last twenty days.

®* No error



Correct Answer :-since last twenty days.

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Unless there is not

* an emergency at home,

e I do not take a leave and sit at home.

* No error
Correct Answer :-Unless there is not
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The man said to the Judge, "I did not commit this crime”.
e The man told the Judge that he did not commit this crime.
e The man told the Judge that he has not committed this crime.
* The man told the Judge that he had not committed that crime.

e The man told the Judge that he has not committed that crime.

Correct Answer :-The man told the Judge that he had not committed that crime.

17)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Our teacher said, "We have to finish this work today as we know that tomorrow never
comes”.

® Our teacher said that we have to finish this work today as we know that tomorrow
never comes.



®* Our teacher said that we have to finish that work that day as we know that
tomorrow never comes.

®* Our teacher said that we were to finish that work that day as we know that
tomorrow never comes.

®* Our teacher said that we had to finish that work that day as we know that
tomorrow never comes.

Correct Answer :-Our teacher said that we had to finish that work that day as we
know that tomorrow never comes.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Rehman said, "I haven’t taken any exam this year but I intend to take two exams the
next year”.

¢ Rehman said that haven’t taken any exam this year but intends to take two
exams the next year.

e Rehman said that hadn’t taken any exam this year but intends to take two exams
the next year.

e Rehman said that hadn’t taken any exam that year but intends to take two exams
the next year.

e Rehman said that hadn’t taken any exam that year but intended to take two
exams the next year.

Correct Answer :-Rehman said that hadn’t taken any exam that year but intended to
take two exams the next year.

19)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The builders have built a perfect dam across the stream.
¢ A perfect dam had been built by the builders across the stream.
e A perfect dam has been build by the builders across the stream.

e A perfect dam have been built by the builders across the stream.



e A perfect dam has been built by the builders across the stream.
Correct Answer :-A perfect dam has been built by the builders across the stream.
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

After taking him to the hospital, I dropped him at his place.
e After been taken to the hospital, she was dropped at her place by me.
e After being taken to the hospital, she was to be dropped at her place by me.
e After being taken to the hospital, she had to be dropped at her place by me.

e After being taken to the hospital, she was dropped at her place by me.

Correct Answer :-After being taken to the hospital, she was dropped at her place by
me.

21)
Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Physically challenged people should not be laughed at by the public.

e The public cannot not laugh at physically challenged people.

e The public could not laugh at physically challenged people.

e The public shall not laugh at physically challenged people.

e The public should not laugh at physically challenged people.
Correct Answer :-The public should not laugh at physically challenged people.
22)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.

e We should take an healthy breakfast in the morning.



® We should take the healthy breakfast in the morning.

* We should take a healthy breakfast in the morning.

e We should take healthy breakfast in morning.
Correct Answer :-We should take a healthy breakfast in the morning.
23)
Question Stimulus :-

Fill in the blank with the correct option.

I have kept ___ sharpened pencils and erasers in his pencil box.
* few
* afew
* the few
* a little
Correct Answer :-a few
24)
Question Stimulus :-

Fill in the blank with the correct option.

Yourroomis ____ more comfortable than my bedroom.
* little
* a little
® the little
°* afew
Correct Answer :-a little
25)
Question Stimulus :-

Fill in the blank with the correct option.

Students who were sitting in the class stood up and greeted the teacher.



* Few
e A few
¢ The few

* Alittle

Correct Answer :-The few

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

What is the meaning of the word 'bully' or 'bullying'?

®* To use superior strength or influence to intimidate someone or to force
someone to do something

e A way of entertaining someone
* A way of arousing interest in someone or something

* None of the above



Correct Answer :-To use superior strength or influence to intimidate someone or to
force someone to do something

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

Which word in the passage means 'lack of concern or thinking for others'?
¢ Indifference
® Scared
* Threaten
e All of the above
Correct Answer :-Indifference
28)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.



Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

Why do senior students bully?
* They want to seek attention
* They derive pleasure in dominating and belittling others.
®* To gain popularity
e All of the above

Correct Answer :-All of the above

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children



who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some
bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

What are the factors that lead some children to adopt the hateful process of bullying?
®* Neglect and indiscipline at home and indifference or carelessness in school.
* The command of the school authority
* The desire to take revenge

* None of the above

Correct Answer :-Neglect and indiscipline at home and indifference or carelessness in
school.

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Why do students become a bully? Bullying is a big problem. It can make kids feel hurt,
scared, sick, lonely, embarrassed and sad. Bullies might hit, kick, or push to hurt
people, or use words to call names, threaten, tease, or scare them. A bully might say
mean things about someone, grab a kid's stuff, make fun of someone, or leave a kid
out of the group on purpose. Some bullies threaten people or try to make them do
things they don't want to do. It is often seen that in schools most classes have group
of students who are bullies. Who are they and why do they act in that particular
manner? Bullies are children who like to dominate others. Bullies are often children
who want to feel important and want to make themselves popular. Bullying children
who are weaker than themselves makes them feel big and powerful. Many a times,
bullies are just insensitive children who know that it hurts their victims but they
continue to do it anyway. Some children who bully are attention-seekers. Children who
do not get emotional support at home and are not given attention at home may try to
attract attention towards themselves in the classroom through bullying. In some
cases, a child who is bullied, sometimes ends up bullying others. Some bullies come
from families where everyone is angry and shouting all the time. They may think that
being angry, calling names, and pushing people around is a normal way to act. Some



bullies are copying what they've seen someone else do. Some have been bullied
themselves. Sometimes bullies know that what they are doing or saying hurts other
people. But other bullies may not really know how hurtful their actions can be. Other
factors such as teacher's indifference to the victims and bad disciplining by parents of
bullies can also cause bullying.

‘Bullies might hit, kick, or push to hurt people, or use words to call names, threaten,
tease, or scare them’. What does the idiom ‘call names’ mean?

* To abuse someone
®* To greet someone
* To embrace someone
* None of the above

Correct Answer :-To abuse someone

Topic:- Hindi
1)
Question Stimulus :-
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Correct Answer :-ITHTS 3R 3fie TaRnai &1

2)
Question Stimulus :-
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3)
Question Stimulus :-
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4)

Question Stimulus :-
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Correct Answer :-8T¢0 & U1
5)

Question Stimulus :-
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Correct Answer :-Afd® o4

6)

Question Stimulus :-
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Correct Answer :-RTHHdT $T sftad
7)

Question Stimulus :-
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8)

Question Stimulus :-
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9)
Question Stimulus :-
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HTIRGT U] FT I §

39 Fewe gef Ra |/, A a9 |, s a9 @
fasis =1, fagis &

7t R % wiife ghm-
o W & URUNS THar I
o ¥R P yfa w=h wida &
o TIw ot fafay wegmai |
o I & URRYH 9 AT |



Correct Answer -89 & URYH T 9169 &

10)

Question Stimulus :-

fFrrafafEa sro o aryde yea 39 A o T sgfasal u=al o I8 faweu &1 999 &4

3t IR o B

A g1 91 O TH A

U B9 P Tgd SIS, S URGRdl & silaq I
fasie =31, fagis =<1

forr= et ward wer ama

o e o aten

et 3TN, I@! FAfHfa St F 3rvp-3rv), Hu-or A fAEE B0 fasE FA
HAATH WET g et

UY] SR IEAT1 g4 gl

fafr & 7 R WY uew, 39 fFafa ot SagA @
fagie ®, fagie +<

fawra TR T B

9 Tt gt @ ghm

AU & TRY & 96 TR SRR Sl & e o
fasis =3, fagis +1

a1 Sita =qdf a8

BT U] BT IT 8

AT gei e Q, s a |, A a T |
fasie =1, fagis =

ST PT IUGad Mu® -



o TH B
o T
fasie @
Hifd B

Correct Answer :-fagig &1

11)

Question Stimulus :-

ST &1 TRT € 2
* g P ARYH
° YZHHAAHA
o W< P A H
o T A TS A
Correct Answer -3 & 3JRH

12)
Question Stimulus :-
3T’ X1eg § UG I 8-
e Iq
° 3
e 3g
o 3@
Correct Answer :-3(d
13)
Question Stimulus :-
3T BIH-T Xeg TP 6l 82
o T



o MO
o
* W
Correct Answer :-@WX
14)

Question Stimulus :-

e A fra o ® «so” Toag &1 W g3 32

Correct Answer :-4f9&

15)

Question Stimulus :-

TS, BT BIR TSI’ TeTar BT 3 3-
Ta¥ ¥ usr

CIGEEKT!

STYIREI ¥&T

st ude oAl

Correct Answer :-@d¥ # U1

16)

Question Stimulus :-

3R & U JaAT YeTaR BT 1 31 32
o URT HIAI

o g @IeHT



o 3% | HTH AT
o IUHTFE HAT
Correct Answer :-fd3% @ &9 -1

17)

Question Stimulus :-

TS} Pt TIPS T HeTaRT &1 1 34 82
U Adx g fodft &1 1w S
fomsdt =1 fonsdt wepTR wfergT o=TE Y@=

g AT g
agd R g
Correct Answer :-fdt 7 foft usrR ufagr 9 Wa=n

18)

Question Stimulus :-

f&d M I & forg U 2reg &1 WA Fifore-
“Z ORI & g & AT 3 g&i &1 Arr>

e JThld
Correct Answer :-3T&HE

19)

Question Stimulus :-

&2 T aTei F T U wreg T ya Fifre-
«gTf~ BT 3TRIPT | IUA BIF aTdT AT

e STdY



Correct Answer :-83

20)
Question Stimulus :-
fagrl 3 38 & snyfie Teon & MUR W B¢ & TP 30 I &) AT &t 81 98 T¢ HI-AT 8 2
o afdfe e
* HFP Bq
o fum wrhe @
o H HIA® B
Correct Answer :-H&® ©¢

21)
Question Stimulus :-

TR B T, gfa 3R T & SuR R e A A #9193 e g @
o ¥H 3R faww
o ¥H fauH 3R srgaw
o Tad 3R AIS
o HIYRT R FUSH

Correct Answer :-99 faud iR srgaq

22)

Question Stimulus :-

THTIR et v sgaeR & fore fed gaifta ween @nfee?
o fdR

o JUIGH



o UIDhIR
e Uddh
Correct Answer :-HUlc®

23)
Question Stimulus :-

o & @ 3 = &1 9 Fif-

Correct Answer :-3-JRRUI

24)
Question Stimulus :-

Fra ¥ ¥ ey el &1 Tud P

® J[dPHIRI

Correct Answer :-3®&Y

25)
Question Stimulus :-
AR & guitrs sfa -

. ArET BT

o faemufa

* AT



o goddleN
Correct Answer :-fagmufa

26)
Question Stimulus :-

gerited famaaf3eT Sty 3-
o 3afy
o T
o TR
o PR
Correct Answer -5l

27)

Question Stimulus :-

A 9 e &1 yafgars 98 8-

e Urell

Correct Answer :-3X[¢

28)
Question Stimulus :-
Fredr Fad | feae wafgard 8-
o PRA
o fafgam
o MY
o AT



Correct Answer :-®19d

29)

Question Stimulus :-

Prafufed & @ S.91 v 7ga &

Correct Answer :-diar

30)
Question Stimulus :-
e doH
* dgd
o HPT
. 3w
Correct Answer :-dcidq
31)
Question Stimulus :-
ER o1 Wi fde &
¢ Mg+2IR
Ui + 3eR
uIq + 3R

o Tid: +3GR

Correct Answer :-UIq + R



32)

Question Stimulus :-
qERor 1 Y faede 3
o TH + 3T
o THY +TUT
o TH:+TUI
o TUT+TU
Correct Answer :-d#: + 70T
33)
Question Stimulus :-
g | P G-
o Gy
o fomiwfy
o U Y
o 3arfe HiY
Correct Answer :-fauf |f¥

34)

Question Stimulus :-

o fafea 6 arai=n § @ wyw g sifaw fAfda €, v o1 Sfua vu A aafRE Fifm)
(1) fgha fowa g5 & kM=

(T) HRA BT ATHIAD TgART

R) foea & fag

(9) <t Ugd A 3 Mds g5 i

(q) T BT At gt

(6) & forg sitda wdta ot

e gX¥dd



e Jgddr

e ¥Ydqdd

® g4qdv¥d
Correct Answer :-¥9dd
35)

Question Stimulus :-
fru faf@a 6 araai # & uyw g sifaw FAfya € Au ) i $w A sgafRE Fifve)
(1) 99 91w, 91, $evl, 6,
(@) T TRTER fawg o
(R) U UBR AHAT 3R Teged 3@ &
() TF WaH g uRkyyf g,
(@) 9% 3nfg ¥ Ada oI WRT §, 99 &
(6) TS WonfA & fRYT WA T U BT 8
o TUT
e TYTX
e ddyx
o Jgd4qr
Correct Answer :-d9dv?
36)
Question Stimulus :-
for ufda & srdeR ugnfoe-
a0 3f weR favg, wra wify mifiw |
#fY s R Ay fga our Riy vgdRi
°« TUD

o AW
.m



o U
Correct Answer :-%U&h

37)

Question Stimulus :-
forar ifeR o s UgaTfE-
faar faarst wfar=r vt am gjs o are|
a1g I Riy & yu forat Sa1e 3wra ||
.« IS
e AW
o I
o yifam
Correct Answer :-Yifad
38)
Question Stimulus :-
g o 3 g are oifeu -
o3[ AN I8l 3T §T |
o gl 3% TN 3¢ §T 3|
e 3T T A T8T 3D @l
o gl 3¢ §Y & 3 @l
Correct Answer :-dgl 3@ @ 31T g Y|
39)
Question Stimulus :-
g o ¥ g arey Bifeu-
o TSI & TN § IuA RIR gora|
o I RR gora ol F RO F |



o R PP IHA Tl F RN A |
o I Tl & RN A R gopran|
Correct Answer :-38 TR=ull & TRUll § R geprar|

40)
Question Stimulus :-
o i 1 Gagor Sifse-
g BT AR 3Ud PS8, T W e aTal B HISASAT ot &Y M, fobg a8 Wedar 781 g1 St @
HfSTaT1 SEH faaferd gt AT &, d STed] 8t U1 | 96 ad ¢ | ATl agaq &1 oY 3 fp 9 oy fop ok
¢ OITd 81 9 PR 9 U4 Y g1 91d 317
o AT 3ifa TE
o 99 a1 v8d 7 v g
o T fi
* 78 | B T
Correct Answer :-37d &I 3id 98l
41)

Question Stimulus :-
8 & Bi-1 fawed arat i+ fyweat & off ave s @2
* &g
o @l
* TATHI
* @c
Correct Answer :-%c

42)

Question Stimulus :-
AP Freg ‘foae’ & forg g & @ we ord 78 ], 3@ gf -

o UTLIT



Correct Answer :-dIq

43)
Question Stimulus :-

frafafea srgena-faca gl 4 @ 9IS 7o 3@ #8761 &, 799 S
o fHfYa-arfufia
. gEI
o firagra
o ITTH A PIS T
Correct Answer :-f3-gre

44)
Question Stimulus :-

frrafafe sraeia-facia gl & & IS T W el ¢, 90 HITe-
o Wfatm
. -3
. SYTH-gHTE
o THADE T
Correct Answer :-3TG-3(9T&

45)

Question Stimulus :-

QAT ) B R F AT H T fors &1 wERT ST &
o 3quf foRTH
o AUYT®



o THT I
o Uue fas

Correct Answer :-91i& g

46)

Question Stimulus :-

& & wa veTeTa ‘usIad’ & IRMdr H14 82
o IHYURIfE foTa?
. geiiare
o Hfere ggwig S
o SURPR YA

Correct Answer :-Hft® JgWg Sl

47)

Question Stimulus :-
HEU I DI FHRTS B SUITY fre &2
o WA
o qUSIA
o UfsaRTer
o yayfa =
Correct Answer :-Ha¥fd =
48)
Question Stimulus :-
CANCELLED
fasrt g P W d afa g
o HEU

o g



o YOS
e 4R
Correct Answer :-Hfad
49)

Question Stimulus :-

«HIAFRT AP T & TWTPR DI 82
o SUTPH TG
o ATy ARTAO iy
o HIEH

Correct Answer :-$RderN

50)
Question Stimulus :-
“URITHR” Bt 7T Fa & | P-1 32
o TATERRY
o dferd-sremd
e -fa@m™
o favg-iten
Correct Answer :-TRTeIgRY

51)
Question Stimulus :-

31 fRiae ufeT &1 Jdure for =eR A giaT 32



o Jar
Correct Answer :-S[deiq¥

52)

Question Stimulus :-

fora weeht &1 wel SR gFe-
«IoR W, BT AR
o T I IR gAH
o BT 3R FaH
o WEl 3R qard
o TH DI TR
Correct Answer :-&TTd 3R HaH

53)

Question Stimulus :-

e ugelt &1 HEt 3R gfe-
«IT B FHY g, Hid FraR a9dd | IR 88 39 da Herd sd|1”

o JTHT
° W
o Tal
o R
Correct Answer :-aI}

54)

Question Stimulus :-

PG BT Y a1t faewor gRTI-
° 35+3ﬁ+ S+ + 3

° §7+Gﬁ+t[+él+3{



LI +3ﬁ+q+ar+q+ar

° §+sh+q+a[+ar
Correct Answer :-% +31 + g+ 3 + T+ 3
55)

Question Stimulus :-

G+ + A+ G+ T+ + A BT YK T F&YUT g

o FTH A BIE TS
Correct Answer :-gfad
56)

Question Stimulus :-

fra & @ 915 o g ARG 7181 8, 9 S
o BB
o HUL-HH
o HU-HH

Correct Answer :-Hul&H

57)

Question Stimulus :-

g fapedl ® wsg-g & - A &9 1 9 @2
* HATAI-HeT = GEI g farerar-d faar
o Hifd-gaifd = THB-BAT A
* Jewr-afear - gfRrer-met



o TRI-TET = AW e-Td a&]
Correct Answer :-Sifd-gdifd = THH-BAT A

58)

Question Stimulus :-

g A «urfvaYe weg & THTATT 2reg &1 I+ Hifore-

Correct Answer :-[R¥PRR

59)

Question Stimulus :-

Frafafaa areg #@ 9 Y@ifed g & Ul v &1 99 Fifere-
«gaTed | gd fe=m I 1>

o gxIfia

Correct Answer :-aTfHTgH

60)

Question Stimulus :-
Thel Tsg Bl AT e &
o T 3 forwat &

o TS A Fel

e TP & forg Fer



o HTH Pl g Frgat
Correct Answer :-AT% ®dl g foraa!
61)

Question Stimulus :-

f W %1 Sarev E 3-

Correct Answer :-dgqd

62)
Question Stimulus :-
TS g BT TATH fawe 8 -
o T: g 3=A o
o B: A Pl HHTER
® B:3TH4
o 399 | DI TE
Correct Answer :-@: § -+ foras
63)

Question Stimulus :-

o aret F @ Fragarae are #1994 Fif-
e Ig FEl 9 T2
* PUIT ATV Wiferl
o A9 99 o X foran 7l

39 TP dR fear S|



Correct Answer :-87 Jq &TH &3 forar g1

64)

Question Stimulus :-

P dg FA R T

Swdad 9T § HI-7 9 87
o &g arA

$H ard

HTq AT
T | PIE T

Correct Answer :-%H arg

65)
Question Stimulus :-

‘Agreement’ BT T fe=dt ard %—

* IAUTH
Correct Answer :-3[d4ux
66)
Question Stimulus :-

‘Inspection After Execution’ ®T 3[JdTg 82
o HUTGT & TG UT&01
o froarEa & a1g T
o BT & aTq udiem
o T A DI TR



Correct Answer :-fAared & 918 udtequr

67)

Question Stimulus :-

«Ht AT TH Ta” Apifad o1 a1 A g2
o 3o W g a sy uAr
o TG ATATD T
o 3o ARt & fisar g=n
e AN F AR T AT T
Correct Answer -3l $ AR E A&

68)
Question Stimulus :-

«t &1 I 3reTS PN~ §H dArditaa o1 3 g2
o et far & g
o T4 H HYEI
* Tgd it g=
o THADIE TR
Correct Answer :-9gd 3 g3

69)
Question Stimulus :-

« 3T AT | W Tl gl Adpifaa o1 Tt 3 8-
o 3 97 A Y A Fifa 3wl 3
o 3T HTAT H gy o & iy 98 gt
o 39 I A Sl FI T Tl 7
o TH W DI TR
Correct Answer :-3(ded 431 # 9 A1 & ity =) gl



70)
Question Stimulus :-

fedt wrfeea &1 wyw weTHT -
* THHTI HETHTH
. TR TR
o ToiAEh
o T B E
Correct Answer :-J2dRTel 391

Topic:- General Knowledge
1)

Question Stimulus :-

Which Indian State is on the international boundaries of both Myanmar and Bangladesh? / P I
HRHTT IT, WAR 3R AR Q1 BT SaRIgia Warsi & v gan @ 2

Mizoram / foreiRe
Nagaland / AT S

Assam / 3HH

West Bengal / Uf3# sma
Correct Answer :-Mizoram / fUsiR"
2)

Question Stimulus :-

The temperature of a cold storage was set at 5 degrees Celsius when it was empty. After
wards it was set at -15 degree Celsius when it was stored up. What is the difference
between the two temperatures in Celsius? / T& 3Us HSRUI &7 aqHE 5 33 I}ww w® 9 s
wwangm q1G H, 39 -15 3 A} wR e fvar a1 519 ag WRT g3 UT| S 9yl & o
HT ¥ 5?2

e 20
°* -10

* 20



* 10
Correct Answer :-20
3)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / 4 G|

faeme 3k T 3T U Fisl & YR W I} IR BT I B

List-I List-II
1. Mizoram a. Agartala
2. Meghalaya b. Imphal
3. Manipur c. Shillong
4. Tripura d. Aizawl
gfa-1 gfa-11
1. feiem a. 3FRden
2. AU b. FBTA
3. AforgR c. Rraim
4. g d. 3msvid

® 1-d,2-c,3-b, 4-a
® 1-d,2-c, 3-a, 4-b
® 1-c,2-d, 3-b, 4-a
® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
4)

Question Stimulus :-

A ball travelled a ft from the wicket. Due to misfield it travelled c ft towards the wicket and
gained another m ft towards the boundary. The situation is represented

/ T g 7 fdFe | a P a0 91| v & oRU IEH fdFe 3 WG ¢ Pe amn
aﬂeﬁvvﬁmaﬁwm m B¢ aF Ugd Tl| 39 IR #) 0 o #d &

® a—-c+m

® a+c¢c+m



® a—c-m

® am-c
Correct Answer :-a—-c+m
5)

Question Stimulus :-

Which is the world’s largest living bird? / 'g'ﬁqu PTG qdsT1 wiifad ueft &9 %?
® Eagle/ éﬂ?r
* Emu/4y
® Penguin / ﬁuﬁ
® Ostrich / R

Correct Answer :-Ostrich / [RY

6)
Question Stimulus :-

A polyhedron hasl6edges 8 faces. How many vertices does it have? / Th dgb P ¥ 16 fPIR 8 Ba® %’I
IqF fopa pivr fig &2

° 12

® 10

®* 16

°* 20
Correct Answer :-10
7)

Question Stimulus :-

The moon / I&HT:
® js the natural satellite of earth / t{'t‘ﬂ’f Cal wﬁm IUUe %
* has no atmosphere / W aHSd 8! &

® has no liquid water / UR &4 Sid T-Iﬁ %



e All of the above / IWRiad I
Correct Answer :-All of the above / SWRiad It
8)
Question Stimulus :-

Humidity can be measured by . / St

® Hygrometer / G'I?g";l-']'lﬂf?
® Thermometer /?‘Iﬂfﬁﬁa

® Sismograph  FrHTE
® Hydrometer /Fﬁ?g-ﬁﬂ??

Correct Answer :-Hygrometer / STgUIHIER

9)

Question Stimulus :-

¥ gRT ATd o JHdt 2

Which of these nutrients is not present in milk? / -1 Nyd dedl & A AL qr gy s | 'FﬁTrj? qﬁ %?

e Calcium / SfRH

e Fat/ e

* Potassium / N RAH
e Vitamin C / faerfi= <t

Correct Answer :-Vitamin C / faerfi= Ht

10)

Question Stimulus :-

In the given diagram two parallel lines are cut by a transversal, find the measure of angle 4, if angle 7=20°/ f&A

T e W S HTAR IWTE TH WY GIRT BT TS 8, BIUT 4 HT A9 FHprierg, afe dor 7=200

A
\
Y




e 170"

* 160"

o 20"

e 180"
Correct Answer :-160"
11)

Question Stimulus :-

Where is Dwarkadhish Temple (also known as the Jagat Mandir) located / g1l dfew (ﬁlﬁ ST

HfeR & AW | ot ST STt 8 ) Pel UG 82
® Rajastan / ITSTRITT
® Gujarat / oIRTd
e Karnataka / HICH
® Maharashtra / HEIRTY
Correct Answer :-Gujarat / T[IRTd

12)
Question Stimulus :-

What is the mean of the first seven whole numbers? / YYH 7 qu TBAT3M PT HIHA FT 82

L

Correct Answer :-3

13)
Question Stimulus :-

To which place did Ratan Tata decide to move the Nano Project from Singur? / a9 €Tl 3 3 il
o RTR | 5 g R WFERT #39 1 baar fear?



® Malanpur / HICTHYR
® Sanand / 9H¢
® Mumbai / Hﬂg
® Chennai / %\a'é

Correct Answer :-Sanand / 9¢

14)
Question Stimulus :-

An oven when sold at a profit of 5%, its selling price is Rs.8190. What is its cost price? / TP 3fd- P 99 5%
Y W ST 4T, A ITDT {Iha o & & 81901 IAD! AT SIAT T 82

® Rs.7500
® Rs.7000
® Rs.7700
® Rs.7800

Correct Answer :-Rs.7800

15)

Question Stimulus :-

Ranganathittu Bird sanctuary is loacted in which state of India? / T‘Tlﬁl'a'g q&ﬁ ﬁ?'l? YRd & fog Ira & fRya %?
® Tamil Nadu / dfHd qarg
® Telengana /aﬂ"Tl_"IT
® Karnataka /m

® Andhra Pradesh / G-IT%[U%QT
Correct Answer :-Karnataka / BIcP
16)

Question Stimulus :-

The graph depicts a four point star. The coordinates of the four points are / T AR ﬁ'g &1 dig

feamar 31 R fagsht & e §



® A(0, -6), B(6, 0), C(6, -6) and D(-6, 0) / A(0, -6), B(6, 0), C(6, -6) 3R D(-6, 0)
® A(0, 0), B(6, 0), C(0, -6) and D(-6, 0) / A(0, 0), B(6, 0), C(0, -6) 3R D(-6, 0)
® A(0, 6), B(6, 0), C(0, -6) and D(-6, 0) / A(0, 6), B(6, 0), C(0, -6) 3 D(-6, 0)
o A(0, 4), B(6, 0), C(0, -4) and D(-6, 0) / A(0, 4), B(6, 0), C(0, -4) 3 D(-6, 0)
Correct Answer :-A(0, 6), B(6, 0), C(0, -6) and D(-6, 0) / A(0, 6), B(6, 0), C(0, -6) 3R D(-6, 0)
17)
Question Stimulus :-
In which state, Kakrapar nuclear power plant located? / BTHRTUR ATfHSIT Rfdd Ta=1, fra sy & Ry« 32
* Gujarat / TOIRTd
® Karnataka / Blc®

® Goa /TMal
® Tamil Nadu / Af¥@ qarg

Correct Answer :-Gujarat / ToIRTd

18)
Question Stimulus :-

Manu has a plot in the shape of a trapezium. The distance between the two parallel sides
are 30ft and the non parallel sides are 90ft and70 ft., Find its area? / Uq & U J0dd &
JTHR BT TH WIE g1 & iR Yolisi & & g3t 30 Wie § 3R RIHIMR YWY 90 Wie 3R 70 Wi g, sUDT
aawa Aeiferd?



® 4800 ft>2 / 4800 Pc2

® 1900 ft2 / 1900 Ppc2

® 240 ft2 / 240 P2

® 2400 ft2 / 2400 Ppc2
Correct Answer :-2400 ft / 2400 Hc2
19)

Question Stimulus :-

Where would you view the Ice Lingam? / 34 a't% ¥ 911 foFm ﬁzf a@?f?
® Amarnath / 3HIATY
e Kedarnath / BERATY
® Rameshwaram / ?Tﬁ‘HTFI'
® Mahakaleshwaram / HGTHTAYH

Correct Answer :-Amarnath / [AIATY

20)
Question Stimulus :-

The eastern coastal plains are also called / 'lﬁ:f adig 'aE'Fﬁ' 3| qg f Dl SIldl %:
® Coramandal coast / PRIHSH dc
® Utkal coast/ Jchd dc
* Konkan coast/ BI®HU dc
® Andhra coast/ 3§ dC

Correct Answer :-Coramandal coast / PRIHSA dc

21)
Question Stimulus :-

CANCELLED

A cylindrical water pipe has radius of 18 cm. The volume of the pipe can be calculated

using . / SOTPR U & gy & T 18 I g1 ugy &1




3T BT YART B BTar o IPdT g

® 2xwtx18xh
® 2xmtx18x18
® 2xzwtx(h+r)
® nxdxh

Correct Answer :-2xnx18xh

22)

Question Stimulus :-
Where is India Gate located? / Eﬁ'ﬂ?ﬂ e Pl (U 8?2

® Mumbai/ ﬁﬁ'{

* Kolkata / BBl

e New Delhi /S faeeit

e Gwalior / TTfRIR
Correct Answer :-New Delhi/ T8 feeeil
23)

Question Stimulus :-

A project can be completed by Sumit in 12 days and the same can be completed by Amit ip
8 days. How long it will take if both of them work together? / T uf¥aieHT gfid grRT 12 fe=i
H T8 FY o Tt 3 3R 9t Sif¥a gy 8 AN A ¢ft Y o whelt B 1 afe 3 S Ay Bl w¥ @Y frae wwa
AR

® 20 days / 20 f&

® 12days / 12feq

® 4.8days / 4.8

® 10days / 10 f&

Correct Answer :-4. 8 days / 4. 8 feq

24)

Question Stimulus :-



Which of the following is a landlocked country? / 14 H I HIF 91 < wHAEG 87
® India / YRd
® Bangladesh / qivee=
* Afghanistan / STRTIARIT
e Sri Lanka / fidi®T

Correct Answer :-Afghanistan / 30T

25)
Question Stimulus :-

Audible range for human ears / AIFd S & T 47 W &
®* 0-20Hz/0-203%cH
e Above 20,000 Hz / 20,000 ma; DU
e 20 -- 20000 Hz / 20 -- 20000 m
e 20,000 - 50,000 Hz /20,000 - 50,000 _E"_éﬁ'
Correct Answer :-20 -- 20000 Hz / 20 -- 20000 gﬁ

26)

Question Stimulus :-

Identify the INCORRECT statement w.r.t the Mendeleev’s periodic table. / Hadla &t 3Tad IRl & Jeu I

3™ HYF B UgAI-1A |

® Elements were arranged in the increasing order of Atomic Mass. / dcd m—m Cg aa?r 9 H

FafXd fHa T A

® Hydrogen was placed at the top of the first group. / FIE@VF‘T UYH gu & RER W @1 T 91l

® Elements with similar chemical properties were kept in the same group / THTH I '{[Uﬁ ¥ dd

A YU HE T ™ A

® Inert gases were kept in the zero group of the periodic table. / 3fepg AY amad IRt & YA YU H

G TS o4t

Correct Answer :-Inert gases were kept in the zero group of the periodic table. / 3rfera A 3rad AR

& I YU @t 1S At

27)



Question Stimulus :-

Which of the following countries consumes more fish than any other country in the world? / Fafafaad @ dg Cac|

139 ¢ S Ry # feeft off o=y 3w Y go A oo woelt #Y wud Fear 2
® Japan / SUH
® Great Britain / 3¢ 9=
® France / Wi
® China / 99
Correct Answer :-China / 919
28)

Question Stimulus :-

Which candidate did the Republican party of US formally nominate in 2016 for presidential elections? / 2016 &

wgufa g9 & T .99 & Rufered ga 7 siivarive & 9 fPa Sefiear ot arfia faar a2

® Mike Pence / HIS®P ug

Paul Ryan / UTel 39T

Donald Trump / SHI (23t
All of the above / SURIad dt

Correct Answer :-Donald Trump / S¢S W

29)
Question Stimulus :-

Which of the following is an example of motion with uniform speed but non uniform velocity? / fgdaa TS HH dTd
AP SRTHF I BT ISTERVI B AT §2

® Motion of a stone thrown vertically upwards | T SR P fe=m H s T YdUR BI A
® Motion of a stone thrown horizontally / &?Iﬁﬁf T T URR P &fd

® Uniform circular motion / Y HHTA QEﬂ'q Tfa

® Motion of a train starting from station A and stopping at station B / Qalllg } B TIf ST WA A F RY
Bl 8 3R WM B WX Tdhelt &

Correct Answer :-Uniform circular motion / ThHHTT §<_\'ﬁ'q Tt



30)
Question Stimulus :-

Which of the following team has won the Ranji Cricket Trophy for 2014-15 in the month of February 2015? / o

# F o A A9 A 2015 BRA & 7ENA H 2014-15 F forw ureht fpdbe grw) st d-

® Gujarat / JGIRTd
® Saurashtra / '\‘ﬁ?'l'g
® Karnataka / FAlcH

® Maharashtra / 'FIFRTg

Correct Answer :-Karnataka / pIcP

31)
Question Stimulus :-

Which of the following Music Directors won an Oscar award in the year 2008? /
3 SaeRi § ¥ 2008 T4 &7 3wy PR fHaA e fHan

® A.R. Rahman / Q,3{R. YgHTA

® [layaraja / QCIARTSIT

e R.D. Barman / 3R.8l. 99

® Shankar Ehsaan Loy / [P T ?ﬁg

Correct Answer :-A. R. Rahman / G.3[R. YgHH

32)

Question Stimulus :-

Who won the Dubai Tennis Championship 2015? / 2015 ga'é of %ﬁ'ﬂ'ﬁm # fHaq siar?
® Rafael Nadal / YWHgd ATSA
® Roger Federer /IR BER
® Novak Djokovic / qa® Swifds
® Andy Murray /@ 'ﬂ%

Correct Answer :-Roger Federer / IR B8R



33)
Question Stimulus :-

Which petroleum product is used for road surfacing? / CaC ;)| ﬂaﬁnm 3Sdlg HSPh @t dg & ﬁnz IYIHT
oo wrar 82

® Coal tarlm

® Bitumen /ﬁiﬁ_"l'

o Concrete/ﬂ'ﬁ‘ﬂ?

® Petro chemicals / YRS
Correct Answer :-Bitumen / faga=
34)

Question Stimulus :-

IIFA-2016 was held in which of the following countries / IIFA-2016 &3 3=1 ¥ 3maifora fam

® Australia / Gﬁm

e Japan / SIUH

* Spain / &

* America / 3AR®PT
Correct Answer :-Spain / €+
35)

Question Stimulus :-

Metal Carbonates on reaction with dil. acid release / mma’ﬁz qgadd Il & ATy rfufehar W
e s3a &1

® Carbon dioxide /W mgaﬁ'aaqﬁts'

e Carbon monoxide / BTa HIAISATRITSS
* Metal oxide / YT ATFATSS

® Metal hydride / YTq 8IS SISS
Correct Answer :-Carbon dioxide / BTa STS3THATSS



36)
Question Stimulus :-

Who among the following represented India in Gymnastics at Rio Olympics 2016? / 79 & 9 f&a= Rait
saflre 2016 # maRes # WRa &1 wfaffRRrea e

* Saina Nehwal / 91T Aga@

® Dipa Karmakar / ST HATHR

* Deepika Kumari / §f0®T $ar

e Karnam Malleswari / &9 ATAYY

Correct Answer :-Dipa Karmakar / 0T &G

37)
Question Stimulus :-

Sohan is suffering from acidity of the stomach. He can get relief by taking / @?T-T Ue &I 3FTdT o W %I 39
e o Q@ a9 @ ed e It 32

® Magnesium Hydroxide / AT TRRH 313373'\“133

® Citric Acid / ATSfe® 3
® Calcium Hydroxide / SR 3133'1'?\“1375’

® Acetic Acid /Qﬁ’lﬁfﬁ <N
Correct Answer :-Magnesium Hydroxide AR g@sﬁ-\qﬁg

38)
Question Stimulus :-

Who among the following tennis stars was the youngest to become World No.1? / g & A 99 91 2 R
fay o1 Ta8 $1 9 FT I AR 97 UN

o Steffi Graf / &CWI UTH

® Serena Williams / I faferaw

® Martina Hingis / wifda %ﬁfq

® Maria Sharapova / HIGT RTYET



Correct Answer :-Martina Hingis / qifdn %ﬁlﬂ

39)

Question Stimulus :-

Who became the first woman member of the Indian Olympic Association? / Cac 3'%11? 3Nafus w‘rﬁlﬁm Al
Ugd! Al 9 12

e Saina Nehwal / HIg-T ﬁeawr
e Nita Ambani / =T QT
e Kiran Mazumdar Shaw / f9 HIG[HGIR =T
® Priyanka Chopra/ et iﬁ'ﬂ?ﬁ
Correct Answer :-Nita Ambani / <TaT a1
40)

Question Stimulus :-

Which of the following states is NOT on the border of Andhra Pradesh? / Ffa &3
DI T I I Y T W1 wv g 82

® Telangana / GERIEI

e Kerala/ W

e Karnataka / HlcH

 Tamil Nadu / TS AT
Correct Answer :-Kerala / #3d

41)

Question Stimulus :-

Identify the summary equation of fermentation in the muscles? / Ul A fpva & '\‘lfél'ﬁ THiHTu 1 tl?ﬂTﬁ'a?

* Glucose +Oxygen ~ Ethanol + carbon dioxide / T o1+ TR
— STl + HId= SSHIFHSS

Oxygen T+ aifefterT el SISHIFHISS + el

s
® Glucose + carbon dioxide +water /

« Glucose ~ lactic acid / @I ~° T I



« Glucose™ Ethanol +water / &I *” Afref + Tet

Correct Answer :-Glucose ~ lactic acid / Wﬁ = el 3

42)

Question Stimulus :-

In which country was the first Wikileaks Party established? / g 3= o ugd! flaPieaw urdf ot
RITYT §5 2

United Kingdom / !]Fl'lﬁg fdren
Pakistan / UIEESIE]

Australia / &r‘f@m

China / 94

Correct Answer :-Australia / ¢ TerdT

43)
Question Stimulus :-

Who headed the 7" Pay Commission? / 7aa?|7'|' STINT T ST PIT UT?
e Justice P Sathasivam / WiReq W} wafRraw
® Justice AP Shah / SIf%eH U i U
® Justice AK Mathur / SIReH T & HIYR
® Justice N Kumar / SiReqd U PHR

Correct Answer :-Justice AK Mathur / SIR¢H T & HIYY

44)

Question Stimulus :-

Which of these bear zygomorphic flowers? / g Ag mﬁﬁﬁ? oA fore Eﬁﬁ %'?
® Mustard / Il
® Hibiscus / %ﬁw
® Datura/Sgrl



® Pea/HCY
Correct Answer :-Pea/HcX

45)

Question Stimulus :-

“Don't be Evil” is the informal slogan of which company/ "Sie &t sfa@" & {9 Hu-t FT YRS
WIRTH 3?2

® Yahoo / UIg

® Google / [Td

® Facebook / W
o Rediff / ITW

Correct Answer :-Google / A

46)
Question Stimulus :-

Sugars produced by photosynthesis are used in making / UhTRT TRAYT GRT I DT (A7 & FHwfor A Ugdd ﬁ'cﬂ

® Glycogen and starch / mﬁq 3R Hs

® Starch and cellulose / HS Gﬁ? ﬁﬂ?ﬁﬂ

® Chitin and glycogen / W’{ﬁ"‘[ 3R mﬁq

® Cellulose and glycogen /ﬁﬁ?ﬁ'\‘l MR mﬁlﬁ

Correct Answer :-Starch and cellulose / HS 3% aqar

47)
Question Stimulus :-

When is World Red Cross Day celebrated? / fay Yewra feaw w9 gamar sirar %?
e 6" May/6HS
o 8" June /6 A

* 6™ June /6 5



o gth May /8 qﬁ

Correct Answer :-8" May /84S

48)

Question Stimulus :-

Where is the headquarters of Infosys located? / E?uﬁﬁm ST T ﬁ\f@-ﬁ %?
* Kolkata / SYCIepTdl

® Bangalore / dTER
® Mumbai / HTSI%
* Mysore / aﬂ?

Correct Answer :-Bangalore / STAR

49)
Question Stimulus :-

The main components of Gastric juice are-------------- /TR & H¥ 3q4d % --------------
® Hydrochloric acid ,Pepsin, Renin / E@W 3%, Ufe, ¥
® Amylase, Mucous, Lysozyme / TFAAS, TASHT, ATS SIS H
® Trypsin, Chymotrypsin, Lipase / FH Y, mﬁﬁ?, ?rr{a'a

® Nucleases, Enterokinase, Dipeptidases / ?Im'lm, TIP3 Y, SEUTISH
Correct Answer :-Hydrochloric acid ,Pepsin, Renin /313@3?&&3‘7 3, aﬁq,ﬁ?

50)
Question Stimulus :-

Rock cut temples in the Bagh caves were built during the period of ./ 91" ﬂ'WTGﬁ H
ST Bl PIEPHR I D He Tzl 1 Fwtor &_1 fopar Tram o1

® Satavahanas / Hddlg-

* Sungas / HUTH

® Guptas / Wl

® Marathas / HITST



Correct Answer :-Guptas / &l

51)
Question Stimulus :-

Minimum Alternate Tax is a policy component of [ ~gAdH Ipfeus
™ &1 Hfifa-ges 7l

® Monetary policy / H&I Hifa

® Credit policy / YR (HTH) Hifa

® Trade policy / PRITR Hifd

® Fiscal policy / foa ifa
Correct Answer :-Fiscal policy / fo=7 -ifar
52)

Question Stimulus :-

The Pehsari Dam is located in /m Y TIE}[’ @ %
® Bhopal / yrare
® Indore / s_ca?
 Gwalior / TTfeRAR
® Ujjain / 350
Correct Answer :-Gwalior / TIferIR
53)

Question Stimulus :-

The average of 6 numbers is 8 and the average of 8 numbers is 6. What is the average of both together? / 6

@3 BT 3T 8 & 3N 8 W3 BT 3N 6 &1 S BT J1Y A fpa=m 3w g



Correct Answer :-

54)
Question Stimulus :-

Potential site for Cheetah reintroduction in Madhya Pradesh is the / &I e ¥ Hid | g-: ufefa e %ﬂ
HUTIIT R 81

 Nauradehi Sanctuary / “RR& IgH
e Kanha Sanctuary / wrer3dgd
e Bhind Sanctuary / fY4us sirog

e Shivpur Sanctuary / Ry dgd
Correct Answer :-Nauradehi Sanctuary / Reg agd

55)
Question Stimulus :-
Rs.7810 is divided amongst Subitha, Batitha and Nabitha such that Subitha: Babitha is 1:2_
and Babitha: Nabitha is 3:1. What is the share of Nabitha? / 7810 ¥Uq &1 W & Jfaar, afqar v
afear & dia 59 UeR Fier T fr gfar: sfaar &1 U 1:2 8 Td afanafaar &1 ergurd 3:1 81 Afar a
et faar 82

e Rs 1500

e Rs 1300

e Rs 1400

e Rs 1420
Correct Answer :-Rs 1420
56)

Question Stimulus :-



The Indian national anthem was composed by / YRAT Tl'g']'q RIG| 3_-1% GIRT T T YT:
® Bankim Chandra Chatterjee / SfhH T Tesit
* Rabindranath Tagore / JAS-TY SR
® [gbal/ghdld
® Jai Shankar Prasad / 510 Q[®x UHIG
Correct Answer :-Rabindranath Tagore / QT MR
57)
Question Stimulus :-
43 of 30 is / 30 BT 45 2
® 38
° 32
® 24
° 28
Correct Answer :-24
58)

Question Stimulus :-

Which Indian artist has won a prize at the 2016 UN Poster for Peace contest? /%\q HRAT $ATPR 4 2016 &
A UReX §RT AT U dieve § JS&pR oidi?

* Swati Kale / TTfd PTdl

® Anjali Chandrashekar / Seifer agRRaR
® Deepa Vedpathak / EﬂTIT a?:w

® Chaitali Mukherjee / Tt H@Trﬁ

Correct Answer :-Anjali Chandrashekar / 3iGifeT 95RRaT

59)

Question Stimulus :-

One of the oldest dams in Madhya Pradesh is /nwm%mgﬂﬁmeﬁ AATT e



® Pagara Dam / WIRT (Y

® Indira Sagar /g'ﬁ?T E3IRIES

® Sardar Sarovar / WW

* Rihand Dam / REg iy
Correct Answer :-Pagara Dam / WIRT €Y
60)

Question Stimulus :-

Remainder when you divide 916 by 23 is / ST§ 3(Tq 916 P 23 ¥ fauTiTa Ha & @1 Aw:

® 15

* 19

° 14

® 10
Correct Answer :-19
61)

Question Stimulus :-

First woman of Indian origin who stayed for the longest time in space is

. / R g 1 ygelt Afgem o T6 dd 90 aP iaie 7 w1 A
e Sunita William / g=Ttar faferay
e Kalpana Chawla / & draal
e Marsha Ivis / ATRIT 3MSfad
® Chiaki Mukai / fa3mat g&rg
Correct Answer :-Sunita William / gitar faferas

62)

Question Stimulus :-

The present ages of three persons are in proportions 2 : 3 : 5. Ten years ago, the sum of their ages was 30. Find their

present ages./a?hﬂﬁ?ﬂqw%‘q’faﬁmz :3: 5%73|ﬂ'qﬁﬁ%l a\qaﬁwﬁ,aﬂﬂﬁe’n‘gm!ﬂﬂm oT| qH™
T ITBT AT J1d B



® 36,9
® 6,915
® 12,18,30
® 15,30,45
Correct Answer :-12, 18, 30

63)

Question Stimulus :-

Who co-developed the Morse Code with Samuel Morse? / '\aTg?[ A & 91y 9 P feraq W-m

?

® A Graham Bell /¥ DI

* T A Edison /¢l T TSI

® Joseph Henry / IE g %q_\ﬁ

® Issac Newton / SISl Y

Correct Answer :-Joseph Henry / W% %Tf\ﬁ'

64)
Question Stimulus :-

Who was the longest serving President in the history of the United States of America? / W IS ARSHT &

gfier ¥ Ted o 99T 9% AaRd APl B A2
e Abraham Lincoln / 3(STEH o
® George Washington / ST dTfRe+
Bill Clinton / e fddest
® Franklin Delano Roosevelt / Trepferd ST W
Correct Answer :-Franklin Delano Roosevelt / P (eI ST ¥oldee

65)
Question Stimulus :-

The ratio between the present ages of A and B is 5:3 respectively. The ratio between A’s
age 4 years ago and B’s age 4 years hence is 1:1. What is the ratio between A’s age 4 years



hence and B’s age 4 years ago? / dqM # A 3R B @1 31 T 3JUTd HHI: 5:3 T 4 TIA Ugd A P
3T 3R 4 TS 91 B $1 AT & S $T AU 1:1 1 4 I 91 A DI 3 3R 4 TIA UgA B B Mg BT
3UTd T RIT?

1:3

2:1

3:1

4:1
Correct Answer :-3:1
66)

Question Stimulus :-

Which city is called the Tea City of India? / T3 W8R & URa &1 & R Far1 rar 82
* Dibrugarh / f&gTe
e Gandhinagar / TR
® Jaipur / SR}
® Bangalore / TR
Correct Answer :-Dibrugarh / f&5Te
67)

Question Stimulus :-

Find the cost price of a dressing table, if, on selling it for Rs. 1,235, the trader gains Rs. 347. / U 3ﬁ:l1T dTd BT
AN YT FTd Y, IS S/ 1,235 FUC | 91 W ATURT DI 347 YT BT ATH BiaT gl

® Rs.788
® Rs. 888

® Rs. 877

® none of the above / SURIST ﬁ'é Hﬁ

Correct Answer :-Rs. 888

68)

Question Stimulus :-



Who wrote the biography of Sonia Gandhi “The Red Sari”? / 4ifyar nidh @t gl 'g
¥s A fpua fort 28 2

® Swaraj Party / RIS 9T}
* Tariq Ali / 9IR® 3fet

* Roderick / A&

® Javier Moro / ﬁﬁ'l!'\’tﬁﬁ

Correct Answer :-Javier Moro / Sifd@ ARY

69)
Question Stimulus :-

Fill in the missing alphabets / &I &R yf¥g

ba__bbb__bb__abb
® ab,a
® b,ab
® b,a,a
® abb
Correct Answer :-b,a, b
70)

Question Stimulus :-

Which among the following is at the apex of the tree tier system of Panchayati Raj? / fada N

YA I @1 fiF g yorelt & i R @2
® Rajya Sabha /I HHT
* Lok Sabha / @& JUT
* Taluk Parishad / ATq® URYG
e Zilla Parishad / foram uftug

Correct Answer :-Zilla Parishad / fore qﬁ'ﬂ?{

71)



Question Stimulus :-

20% of 1000 is / 1000 PT 20% 8:
° 400
e 300
° 200
° 2000
Correct Answer :-200
72)

Question Stimulus :-

Who among the following was NOT a Prime Minister of India? / Faff@d & ¥ #19 yrd & werws 98)
2

e Shankar Dayal Sharma / X gara <4

® Charan Singh / T:R'UTﬁl's'

e V.P.Singh / 4. . Rig

* H.D.Deve Gowda / Td. . <d TSI
Correct Answer :-Shankar Dayal Sharma / X gare <TAf
73)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the
one given below? / % R udi & & &1 a1 i 33 T vd & THen

A 8 82

Painting and Pressure Washing

7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(i) Painting and Pressure Washing



7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(ii) Painting and Pressure Washing

7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(iii) Painting and Pressure Washing

7816 Asheville Hwy
Spartanburg, SC 29303

(864) 205-3016

(iv) Painting and Pressure Washing

7816 Ashevile Hwy
Spartanbarg, SC 29303

(864) 205-3016

® jv
Correct Answer :-iv
74)

Question Stimulus :-

The Chairman of the Union Public Service Commission is appointed by? / 9 e AT 3TN & A& BT 99+
fead g foran wiraT 32

® YVice-President of India / HIRd %wrgtrﬁl
® President of India / HIRd Q?Tl'g'qﬁf

® Prime Minister of India / HTRd & TETHA



® Ministers of union cabinet / W Wﬂ'ﬁ
Correct Answer :-President of India / HIRd %mgcrﬁr
75)

Question Stimulus :-

Which state government in India has launched PEHAL programme for raising education standards? / HIRd G

o PR A TS TR P FW Io™ & AT "uga SrdwHH o1 JURY foar g2
® Madhya Pradesh / % UHI

® Himachal Pradesh /%WEI%QT

® West Bengal /tIﬁfq CE S

® Arunachal Pradesh / W'ﬂ%ﬂ
Correct Answer :-Himachal Pradesh /%WU&QT
76)

Question Stimulus :-

What was the value of the first banknote issued in Independent India in 1949? / 1949 ff, AT HRd gRT SRt tl?ﬁ
e 3T YT T U

e 1

e 2

e 500
e 1000

Correct Answer :-1

77)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / g IR uaf & @ &9 | TP
11 7 & THeH HAM 81 32

U.K Consulate General
Palais De Nations
154, rue de Lausanne

CH - 1211 Geneva 21



SWITZERLAND

i. U.K Consulate General
Palais De Nations

154, rue de Lausanne
CH - 1211 Geneva 21

SWITZERLAND

ii. U.K Consulate General
Palais De Nations

154, rue de Lausanen

CH - 1211 Geneva 21

SWITZERLAND

iii. U.K Consulate General
Palais De Nations

154, rue de Lausanne

CH - 1211 Geneva 21

SWITZERLAND

iv. U.K Consulate General
Palais De Nations

154, rue de Lausanne

CH - 1211 Geneva 21

SWITZERLAND



Correct Answer :-ii

78)
Question Stimulus :-

On 29th March 1857, Mangal Pandey attacked the British officers. Where this incident did take place? / 29 AT 1857

¥, e urus A fofesr srpavt W gwen fan ur, 98 gen wal ufeq g8 9
e Nagpur /AR
® Barrackpore / SRHYR
® Chottanagpur / SIETFRTYR

® Chandpore / IIGUR

Correct Answer :-Barrackpore /anT

79)

Question Stimulus :-
The speed of a train is 54 kmph excluding its halting time. If we include its halts, and the speed be 45 kmph, then
for how many minutes does the train stop per hour? / U®h %ﬁ‘llg_ } DY, fIyTH IHg B 3rev 1 B &, i 54 fH
ferder 31 afe g0 U fasral &) Mmiia $¥ d, iR afg i 45 e uferder g1 ot Yamst v 6 & fraq
e & fore &t 72

® Smin/5 e

® 9min/9 e

® 10 min /10 e

* 11 min/ 11 fiFE
Correct Answer :-10 min / 10 fi9e
80)
Question Stimulus :-

Who was the last ruler of the Lodi dynasty? / @it a2 &1 3ifaw e <19 o1
e Bahlol Lodi / S5q@ dlg!

® Muhammad Shah / HgH¥q RTe
* Firuz Shah Tughlaq / fRIS =M ga®



e Ibrahim Lodi / SHI¢H &Id!
Correct Answer :-Ibrahim Lodi / SSTGH &Idl
81)

Question Stimulus :-

Prem bought 13 books for Rs.130. He sold the books at the rate of Rs.9. How much loss will be in the transaction?
/U9 A FY 130 H 13 TXad TRIGH IT TSB! DI T 9 B R § 99 feam| 39 A # 39 fHaan
TJHATH I

* 14

* 13

® 30

® 15
Correct Answer :-13
82)

Question Stimulus :-

Where is the headquarters of Northern Railways located? / g d Qo1 A e # W I FT HEITeg
fRaz

® Agra/ 3T
® Jaipur / SIAYR
o Delhi / R
® Punjab / USII9
Correct Answer :-Delhi / feeett

83)
Question Stimulus :-

Find the next term in the series -1,0,3,8, / ST § SATeT Yqg ATd aﬁﬁnz -1,0,3,8,
* 13
° 12

® 15



° 17
Correct Answer :-15
84)

Question Stimulus :-

Which among the following is Young Fold Mountains of India? / fFrafef@a H 9 fFd URd &7 47 Bics
d@ FeT oIl g7

e Kangchenjunga / Sa-sidl

* Nilgiris / a3t

e Himalayas / fewrera

e None of these / 390 ¥ HIS gl
Correct Answer :-Himalayas / fg9rea
85)
Question Stimulus :-

Find the next term in the series. / eIl o SATAT Uq JTd aﬁﬁm

8,4,127?

Correct Answer :-9

86)
Question Stimulus :-

In a certain language *fil wil til’'means ‘tell them now’ and ‘wil skel feil’. means ‘now and
then’. Then in that language the word ‘wil’ is used for: / {5 @ YT # *fil wil til’ $T Adad

% ‘tell them now’ 3R ‘wil skel feil’ PT Adad % ‘now and then’| df 39 49T & U ‘wil’ Wﬁi ﬁl‘l'{
AT g &:

® now

® tell



® them
® then

Correct Answer :-now

87)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg Qe ﬂﬁ'&
S 23 T Fy=T 3R fAepuf & aR | I 8:

Statements: / $YH:

All pens are mobiles. / I} HaH Al9Ed 2|
Some mobiles are keys. / $© HiaIsd TfIAr 3
Some bottles are mobiles. / T didd HEEd g1

Conclusions: / fAwsd:

i. Some mobiles are pens. / $T HEISd HaH 3|

ii. Some bottles are keys. / $© diad TIfa4r g1
* If only conclusion I follows / af¢ Fada sy | fFAreaar @
e If only conclusion II follows / af¢ Faa e 11 Reaar
e If both conclusion I and II follows / af¢ frsd 1 3% 11 G fApad &
® If none of the conclusion I and II follows / ?Jﬁ fepd IR A @ H’ﬁ’&‘ :rﬁ Aeaar %

Correct Answer :-If only conclusion I follows / gfe Had fAswd | Aedaar g

88)
Question Stimulus :-

In the sequence shown below, which figure comes next? / i foard 18 %9 § SrTelt anqﬂ?r P9 ot giil?



Correct Answer :-

89)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fa®e ﬂﬁ'&
W 33 T HyEY 3R el & IR & I @:

Statements: / $YH:

All books are crackers. / T T&& TR 1
Some crackers are nuts / $9 UoTd 3RERIT ¢



Conclusions: / fAp:

i.All nuts are books. / T4t 3R & g1
il.Some crackers are books. / $9 ysrd W gl

® [f only conclusion I follows / afe Faa ey 1| Reaar @

e [f only conclusion II follows / gfe Fad e 11 fAeadar %

* If both conclusion I and II follows / af¢ s 1 3R 11 giHY Rwad &

e If none of the conclusion I and II follows / af¢ fepdrsiRIda aﬁé T8I e %
Correct Answer :-If only conclusion II follows / gfe Faa ey 11 Apadar g
90)

Question Stimulus :-

Jacob, who has no brothers or sisters, says, ‘John’s mother is the wife of my father’s son.” How is John related to Jacob?
/ Sotd, Rrad i WS a1 959 T §, e 3, < B Arar R a1 F 92 3 velt }1 I Sie @
9 Tefia 32

e Son / Cr |

® Grandson / UG

® Son-in-law / GqIHTqG

® Nephew / Yeftrr
Correct Answer :-Son / deT
91)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fawe g3
i 3 T FyET R el & IR F 9 @

Statements: / $YH:

All flowers are pink. / 9t B& e &

All pinks are paper. / Hﬁ-ﬁﬂﬁlﬂ’fm%'l

Conclusions: / fAwsd:



i. Some papers are flower. / P9 PRI pd gl
ii. Some pinks are flowers. / $© ardl Bd &l
® [f only conclusion I follows / afe Faa ey 1 Reaar @
® [If only conclusion II follows / Tlﬁ Fad ey 11 fAreadr %
e If both conclusion I and II follows / afe fsrd 1 3% 11 Y Apad &
® If none of the conclusion I and II follows / af¢ fepd iR A aﬁﬁ T8l Feadar %

Correct Answer :-If both conclusion I and II follows / afe s 1 SiR 11 EﬁT-ﬁ Aoad %

92)

Question Stimulus :-
M # N means that M is the brotherof N/ M # N&®THdAd g f& M, N ®T 4TS 8
M X N meansthatMis marriedto N /M X N &THdad ¢ f& M, N ¥ U1d)-3e1 8
M $ N means that M is the motherof N/M $ N ST Hdad ¢ f& M, N &1 AT 8
M = N means that M is the sisterof N /M = NSIAdaa g & M, N Bl Ig9 ¢

M > N means that Misthe fatherof N/ M > N WW%%M,N%W?

If the relationship R and M is represented asR # S XT $ P =Q > M, then, which of
the following is always TRUE? / SR RIRMFP FATFTIEYR # S X T $ P =Q > MT

<=rtar mar §, @, A ® @ 19 91 899 9 g

® R is the maternal uncleof P. / R, P * 'Fn'FIT%'I

T is the grandfatherof M. / T, M & EIET%'I

S is the father of Q. / S, Q & fuar g1

* M is the grandson of both S and T. / M, S 3R T &1\ &1 Uid1 &1

Correct Answer :-S is the father of Q. / S, Q & fUar g1

93)
Question Stimulus :-

Select the statement, which is the logical equivalent to the statement given below: / dg

FYF A & 9 $ =@Re A A T FYT F U ¢

If the shirt is white, then you have washed it with detergent. / af¢ S T¥hg 7, df gHA 39
fSasle & T 81



® If your shirt is not white, then you haven’t washed it with detergent. / af¢; ﬂ'l%'lﬁ FU Abe T8l §, o E[Fﬁ 39
fSecle ¥ 78t urn 3

® |f you haven’t washed the shirt with detergent, then it is not white. /Tlﬁ E[Fﬁ W fEesic @ T'I'E-""f %h'{ﬁ, a
98 b 81 8l

® |f you have washed the shirt with detergent, then the shirt is white. / TI'% T:[Fﬁ a'TFﬁTrT %Eﬁ? | T-I'E:pf Eﬁ'fﬁ,
o HHIA e gl

® None of the above. / SURIE aﬁé T-Iﬁ

Correct Answer :-If you haven’t washed the shirt with detergent, then it is not white. /ﬂ'ﬁ' 'g’lﬁ H'TFﬁTr[

fEesie & 78Y 4, o a8 athe 151 3

94)
Question Stimulus :-

Six members of a family are sitting around a table for lunch. U is the brother of Q. T is the
brother of R. P and R are a married couple. Q is the son of R, but R is not the mother of Q.
S is the daughter of P. / TG IRAR F DE I TP AW S NS GO F T IS EI1 U, QFTUS BI T, R
PT UTE 21 P 3R R AEI-Y[ST WIST 31 Q, R HT deT §, AP R, Q Ft HaT 78I 31 S, P 31 at B

Who is the mother of Q? / Q &} Hal HIF 82
e p

® R

e T
Correct Answer :-pP

95)
Question Stimulus :-

Select the statement, which is the logical equivalent to the statement given below: / dg

FHY g It aF Bt efRe I A T FYT & TUHE §:

If you use pencil, then your handwriting will be good. / gfe dH & dH Bl TART B ?f, o deRT
33T g

® You used pencil so your handwriting is good. /ﬂtﬁ HAH T UGN fHar % Wﬁﬂl LR Eﬁaﬁ 33T
gl



® You didn’t use pencil, so the handwriting is not good. /ﬂtﬁ HAH BT YA ﬂﬁ ﬁWﬂ, Wﬁl"’{ m
3T T8I B

® Your handwriting is not good implies you didn’t use pencil. / FIRT m 33T qﬁ % DI Hddld % ﬂ'qﬁ'
HAH BT FANT 81 fpan|

® None of the above. / SURTa aﬁ's‘ T'Iﬁ

Correct Answer :-Your handwriting is not good implies you didn’t use pencil. / TFRIRT m 3T q?f %
PT HAAd § G- ST BT TN 81 Tl

96)
Question Stimulus :-

Which of the following is the mirror image of WATCH? / fadaa I HT WATCH &T a'foT yfafara %?

NVIOH
MI'NCH

MVLCH

WNVLOE

MVLCH

Correct Answer :-

97)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / T 7% ¥, UgQ Wsg BT g g & 1Y 5 YR A 315 Wy 31 9 AR I ST I F
1Y I UPR BT JaY g1 I18T, df AUT g R

GRASS : GREEN : : SKY : ? / U : g8 :: 3{ : ?
e HIGH /3T
e STARS /AR
e BLUE /i@l
e CLOUDY / qTGal



Correct Answer :-BLUE / Atdl

98)
Question Stimulus :-

In how many ways can 4 boys and 3 girls sit in a row, if two boys sit always together? / q'%iﬁ WWW‘H

¥4 gl al 4 gao Td 3 afaal @ foran ueR A ve ufda A So1ar o goar @2
* 1440
* 2880
* 5760
e 1200
Correct Answer :-1440

99)

Question Stimulus :-

Five children are seated around a round table while having lunch in a school. Amrit is to the left of Mukesh,
Neeru is to the right of Subhash and between Subhash and Rajesh. Who among the children is seated to the right

of Rajesh? / Ul 9= @@ H &d WId IHY TP MadR A9 & R ford 1 81 smfva gowr & arff
%hv%,%gm%ﬁmﬁahv%eﬁ?gmam%aﬁa%laa‘rﬁﬁaﬁ-—mﬁm%?a’rdieh?ﬁmw

® Amrit / 3rufyd

® Mukesh / &I
® Neeru / A=

® Subhash / JHTY

Correct Answer :-Amrit / 3MART

100)

Question Stimulus :-

The question is based on the following arrangement. / U4 g sgawr wR smuTRa %I
W1R%4JE#7MT219BH3A$9FQ5DG6USP

Which of the following is the 7th to the right of the 18th from the right end? / U # @ &9
o1 3t ok &/ 189 & g 731 32

* A



Correct Answer :-$



